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0 _I_IJJ.IJJ_IJ.I_IJ_IJ.I_IJJ_LIJ_IJJ.IJJJJ.IJJJ_LIJJJJ.IJ%J.
59865986.559875987.559885988.559895989.55
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6333

3332.5

6332

3331.5

6331

3330.5

6330

3329.5

6329

59865986.559875987.55 988.559895989.55!

cyclenum

run:cyclenum {run == 6331}

59865986.559875987.559885988.559895989.55990
cyclenum

segment

25

15

05
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usl_1X:cyclenum {run == 6331}
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usl_4eY:cyclenum {run == 6331}

0 59865986.559875987.5 5%;988.5535‘55989 5535%
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usl_4aY:cyclenum {run == 6331}
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usl_12X:cyclenum {run == 6331}
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run:cyclenum {run == 6331}

59865986.559875987.559885988.559895989.55990
cyclenum



i
=)

usr_4deY

=
1)

usr_1X:cyclenum {run == 6331}
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usr_4aY:cyclenum {run == 6331}
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usr_4eY:cyclenum {run == 6331}
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usr_12X:cyclenum {run == 6331}
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run:cyclenum {run == 6331}
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usl_coill:cyclenum {run == 6331}
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usl_coil6:cyclenum {run == 6331}
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usl_coil3:cyclenum {run == 6331}
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usl_coil7:cyclenum {run == 6331}
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usl_coil4:cyclenum {run == 6331}
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usr_coill:cyclenum {run == 6331}
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usr_coil6:cyclenum {run == 6331}
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usr_coil7:cyclenum {run == 6331}
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run:cyclenum {run == 6331}
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1X_coill:cyclenum {run == 6331}
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4eX_coill:cyclenum {run == 6331}
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1X_coil3:cyclenum {run == 6331}
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cyclenum

4eX_coil3:cyclenum {run == 6331}
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4eX_coil7:cyclenum {run == 6331}
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yclenum {run == 6331}
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yclenum {run == 6331}
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yclenum {run == 6331}
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12X_coill:cyclenum {run == 6331} 12X_coil3:cyclenum {run == 6331} 12X_coil4:cyclenum {run == 6331}
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12X_coil6:cyclenum {run == 6331} 12X_coil7:cyclenum {run == 6331} run:cyclenum {run == 6331}
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